):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXXXXMS/2-6300402-00001XX
Function03 for No.9004

{]:[y:3(x—6)2+1] 3=[y=-3(x+1)-4] S=[y=x>+3] }
Nol = 5 5 )

2=[y==x"-6x-9] Ad=[y=—(x—-4)"-3] .6=[y=2x"-24x+76]

30- W Y

\ /

\
25- \ \
\ /f
20- \\ //
15- \:\ A
\ /

10+ /

/ AR
/ /N
. /
/ / -107 \\
/ //
-15-

/ /
/ /

/ [

/ / \

/ / a
\ \

/ / Y

No2=(f(x)=—x"-16x—64), ,No3=(f(x)=—x"—2x+24)

Nod=(f(x)=—x"+14x—-48), ,No5=(f(x)=x"+6x+38)

No6=(p=500-0.2x)

No7 : N = 120 p
: P1 = 7000 , P2 = 7500 , P3 = 8000 ,
: B = 500 , M = 1732500
No8 : P = 3 , L =6 , A =9 , D = 36
NN 1D:9:9:9:9:9:9.:9.:9:9.9:9:9.9.9.:9.0:0:9.9:0:9.0:0:9.9.0:0.0:0:9.9.9:9.0:0:9:9:0:9.0:0:9.9:0.9.0:0:9.9.0.9.9:0:9.9.0:0.0:¢
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):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXXXXMS/2-6300402-00002XX
Function03 for No.9033

d=[y=—(x+7)"] 3=[y==2x+12x-11] .5:[y:—(x+6)2+5]}
2=[y=x"-1] 4=[y=-3x"+6x] 6=[y=2x"-24x+67]

30 \ |
25- \ /
2. \ /

HE—— /
\ /

Nolz[

rr—— ;}\\ 7Y z\ i\ 6 /& 1

\

N \
No2=(f(x)=—x"-2x+48), ,No3=(f(x)=x"—12x+32)
Nod=(f(x)=—x>+4x+21), ,No5=(f(x)=x"—16x+64)

No6=(p=500-0.4x)

No7 : N = 130 ’
: P1 = 4000 , P2 = 4500 , P3 = 5000 ,
: B = 500 , M = 1412500
No8 : P =7 , L =9 , A =121 , D =21
0
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):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXMS/2-6300402-00003XX
Function03 for No.9237

NO]:[-1=[y=—3(x—5)2—5] 3=[y=x"+12x+29] .5:[y:3(x+7)2—2]}

2=[y=—x"+4] 4=[y=x"-4x+4] .6=[y=-2x"+12x-19]
\ / 30

/

/__,_--
——
-—-,_.__.________.
\\\R
1

ATy

f]
No2=(f(x)=x"-10x+25), ,No3=(f(x)=x"+6x+5)
Nod =(f(x)=—x>+12x-32), ,No5=(f(x)=x"-9)
No6=(p=200-0.4x)

No7 : N = 110 ’
: P1 = 3000 , P2 = 3500 , P3 = 4000 ,
: B = 500 , M = 841500
No8 : P =7 , L =10 , A = 144 , D =42
0
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);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXKXKXKXME/2-6300402-00004XX

Function03 for No.9286

No]_[.]z[y:—3x2+12x—15] 3=[y=(x-6)] .5:[y:x2—6x+10]}
2=[y==2(x+7)Y-2] 4=[y=—(x=5)-1] .6=[y=2x"-24x+66]
\ 30 Vo / f
\ \ [
\ s 1\ /I /:
\ \ /]
\ 20- \ / /
\ \ / /
\ \ [
N \ /
\ / /
\ \ / /
10 \\ / ’//
\ \\ / /
5 \ N / //
- AN /]
{ ///
10 8 6 2 2 0 2 4\ 6 /8 10
\ /
//-"\ \ ./
5 / { \\/
-10—/ \
\
/ \
\
-15/ \
5 \
)1 \
No2=(f(x)=x"+10x+9), ,No3=(f(x)=x"+12x+36)
Nod=(f(x)=—x>—-6x—-8), ,NoS=(f(x)=x"—4x-75)
No6 =(p=600-0.6x)
No7 : N = 80 ,
P1 = 5000 , P2 = 5500 , P3 = 6000 ,
: B = 500 , M = 724500
No8 : P =1 , L =9 , A = 169 , D =28
[Page = 0004] XXXXXXXXXXXKXXXXXXKXXXKXXXKXXKXKXKXKXXXXKXKKLXKXXKXKKXKXKXXKKKKXKXKXKXKKXKXKXKKK
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):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXXXKXMS/2-6300402-00005XX
Function03 for No.9604

No]_[.]z[y:x2+2x+7] 3=[y=—(x+4Y-1] .5:[y:3x2+24x+54]}
2=[y==x"-7] 4=[y=2x"+16x+28] .6=[y=-3(x+3)+5]

|\ 1T

10 8 6\ : / 2 0 2 4 6 8
P SN
/o 5
/] N

/ | R
No2=(f(x)=x"+2x-24), ,No3=(flx)=-x"+2x+3)
Nod =(f(x)=—x>—14x-45), ,No5=(f(x)=x"—16x+64)
No6=(p=100-0.5x)

No7 : N = 80 ’
: P1 = 5000 , P2 = 5500 , P3 = 6000 ,
: B = 500 , M = 770500
No8 : P =4 , L =12 , A = 64 , D = 48
0
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXKXMS/2-6300402-00006XX
Function03 for No.9635

I=[y=2(x+2)Y+3] 3=[y==x"+6x-12] S=[y=x"-2x+1] }

2=[y=-3(x-3Y—-1] 4=[y=—x"—14x-44] 6=[y=3(x-6)+2]
\ 30° / | J

\ [ |

\ s |
\ /
\ / \\ /

No]z{

X {

\ 20~/
\ [ |

\ 15/ \ /

/ \
\ / \
\ /207 \
/ \

\

\

\ % \

[\ 3

 — \

No2=(f(x)=—x"+16x—-64), ,No3=(f(x)=—x"+4x-3)
No4=(f(x)=—x"-4x+12), ,NoS=(flx)=x"—1)
No6=(p=100-0.2x)

No7 : N = 120 ’
: P1 = 3000 , P2 = 3500 , P3 = 4000 ,
: B = 500 , M = 1016500
No8 : P =1 , L =4 , A = 36 , D =17
0
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXMS/2-6300402-00007XX
Function03 for No.9770

I=[y=—(x—-4)Y2-2] 3=[y=3"+24x+45] S5=[y=2x"+3] }
2=[y==x"+6x-2] 4=[y=-2(x-3)"=-3] .6=[y=(x—6)-3]

‘\ \ P /
| /
\ f 251 /

Nol = [

|

/ /

/ B\

| A \
| \\

. \

No2=(f(x)=x"-10x+16), ,No3=(f(x)=—x"+6x+27)

Nod=(f(x)=x"—4x+4), ,No5=(f(x)=-x"+2x+35)

No6=(p=300-0.5x)

No7 : N = 90 ’
: P1 = 5000 , P2 = 5500 , P3 = 6000 ,
: B = 500 , M = 985500
No8 : P =4 , L =8 , A =169 , D = 44
0
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXKXKXKXME/2-6300402-00008XX

Function03 for No.9799
I=[y=2x"+8x+3]
2=[y=3x"+30x+73]

\ \\ \\

No]z{

3=[ly=(x+1)-1]

d=[y=—(x+7)-6]

/

/
/

30- /
/
25- /
/
/
20- /
/ /
15- / /
[/
10 / //
By

S=[y=-3(x-6)+3]
6=[y=—x"+1]

/

/

|

10 8 6N\__/4 \ IS N2 4 6 8
/ N\
N\
/ 57 \
/
/ -10-
\
/ \
15 \.\
/ \
/ -20- \
/ \
/ 25 \

/ \

i ——d
No2=(f(x)=—=x>=10x-25), ,No3=(f(x)=—x"+2x+48)
Nod=(f(x)=x>+10x+16), ,No5=(f(x)=—x>—-12x-27)

No6=(p=100-0.2x)
No7 : N = 120 ,
P1 = 6000 , P2 = 6500 , P3 = 7000 ,
: B = 500 , M = 1253500
No8 : P =4 , L =15 , A = 25 , D =16
[Page = 0008] XXXXXXXXXXXKXKXXXXXXXXXXXKXXXXXXXXXXKKKXKXXKXKKXKXKXXKXKXKXKXKXKXXKXKKXKXKXKKXK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXKXME/2-6300402-00009XX

Function03 for No.9824

[.]:[y:(x—S)z] 3=[y==2(x+3)-2] .5:[y:3(x+3)2+4]}
Nol = 2 2 2
2=[y==x"-6x-13] 4=[y=—x"-8x—-15] .6=[y=-3x"-30x-71]
w,
\ /
/
\
\
20- \\
15- \
10- \
\
5
-
N\
/ N .
2 4 6 10

o b fo

[ \

No2=(f(x)=x>+18 x + 81),
Nod =(f(x)=x>-10x+ 16),

A
AN

\
\ A
|\

,No3=(f(x)=x>+2x-3)
, No5 = (f(x)=—x>—8x)

No6=(p=200-0.4x)

No7 : N = 130 p
: P1 = 6000 , P2 = 6300 , P3 = 6600 ,
: B = 300 , M = 1298700
No8 : P =7 , L =15 , A = 144 , D =177
VSN 19:9:9:9:9:9:9.:9.:9:9.9:9:9.9.9.:9.9:0:9.9:0:9.0:0:9.9.9:0.0:0:9.9.9:9.0:0:9.9:0:9.0:0:9.9:0.9.0:0:9.9.9.9.9:0:9.9.0:0.0:¢
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);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXME5/2-6300402-00010XX

Function03 for No.9853

Nol:[’]:[y:_(x+7)22+6] 3=[y=3
2=[y=2(x+3)P+1] 4=[y=
‘ \ i 30
\‘ \ f
\ \ / 25
{ \ /
‘ /
‘ \
\ \ / 20-

S=[y=x"=3]
b=[y=-3(x+2)-1]

X +36x+111]
X +6x-6]

|

o\ /A
f
\ \
\ \ / /
\ \ / /107
\ \/ /
\ /
\ \ /
NG 5
— \\ / A
. // N
10 8 6 4 20 / 2 4 \é 8 10
/
foi Nt \
e
/ \ \
/ \ \
\
AQ- \
/ hY
[ \.
/ \
/ / 45\ \
/ \ \
/ \ \
/ [o200
I \\ ‘
25- \
[ \ \
| [ \
No2=(f(x)=x"-12x+35), ,No3=(f(x)=—x"-2x)
Nod=(f(x)=x>-8x+16), ,No5=(f(x)=x>—2x-24)
No6=(p=200-0.7x)
No7 : N = 80 ,
P1 = 4000 , P2 = 4200 , P3 = 4400 ,
: B = 200 , M = 480000
No8 : P =8 , L =12 , A = 100 , D = 88
[Page = 0010] XXXXXXXXXXXKXXXXXXXXXXXKXXKXKXKXXKXXXKXKKLXKXXKXKKXKXKXXKXK KX KXKXKXKKXKXKXKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXME5/2-6300402-00011XX

Function03 for No.9936
hb]::{
|

\

\
1
\
\
\
\
\

d=[y=3x"-3]
2=[y=—2x"+12x-24]

3=[y=2x"+4x-5]
4=[y=-(x=7)"-5]
30 / /

/ /

—
‘\\.“

S=[y=(x-2)"]
b=[y=—(x+6)-7]

|

No2=(f(x)=x>-6x—16),
No4 = (f(x) =—x" + 14 x — 49),

/
/
///
No7 : N = 100 ,
: P1 = 4000 , P2
: B = 500 , M
No8 : P = 8 , L
1

X [Page = 00

=15+

\ _90- \
\ =/ \
hY
\ _25/ \\
f \
4 \
,No3=(f(x)=x"—4x—45)

,No5=(f(x)=—x"—4x+12)
No6 =(p=500-0.6x)

4500 , P3 = 5000 ,
1008000
18 , A =16 , D = 56

N 1D:9:9:9.9.9.9.9.9.9.0.0:0:0:0.0.9.0.0.0.0.0.0.0:0.0.0:0:0.0.0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:04
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXME/2-6300402-00012XX

Function03 for No.10029

NO]{ T=[y=—~(x-3)]

3=[y=2x"+16x+37]

S=[y=x"+6x+3]

|

2=[y=—(x-5)+3] 4=[y=3x"-3] 6=[y=—2x"+20x—44]
\ 30 /
‘\ 25- /
/
\ /
\ 20- /
‘ /
A
\ 15+ /
/
\
\ 10
\
\
\ 5/ /./\\\

\ TN
N T N
10 8 6\ 4 2 /0 I 6 N\ 8 10

N / / \
P /R

/] \\ \

vi [ =
/ \ o\
[/ v
L15- / \ \

/ \
// / / \\
/| -
=207 // \ o
fb ey e
2% / \ \
/] \ |
II JRU R | \\\
No2=(f(x)=—x"—4x+32), ,No3=(f(x)=x"—2x-15)
Nod=(f(x)=—x>—4x—-4), ,No5=(f(x)=—x"+2x)
No6=(p=700-0.4x)
No7 : N = 120 ,
P1 = 3000 , P2 = 3300 , P3 = 3600 ,
: B = 300 , M = 940800
No8 : P =1 L =6 A = 64 , D =5
1
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMS/2-6300402-00013XX
Function03 for No.11015

d=[y=-3x"+6] 3=[y=2(x+3)Y+1] S=[y=(x-3)] }
2=[y=3x"-24x+43] 4=[y=—x"+2x-8] .6=[y=(x+3)-3]
\ 30~ y |

Nolz[

\ //
A0S 2\ 4 S8 e
N
5 Ny
/—"-.\\
AN
Ao .
/ N

=20+

=

f

! e 1
No2=(f(x)=x"+6x+9), ,No3=(f(x)=x"-2x-15)
Nod=(f(x)=x"+6x+8), ,No3=(f(x)=-x"+49)
No6=(p=700-0.5x)

No7 : N = 90 ’
: P1 = 3000 , P2 = 3300 , P3 = 3600 ,
: B = 300 , M = 641700
No8 : P =9 , L =20 , A =9 , D =281
1
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXMS/2-6300402-00014XX
Function03 for No.11124

d=[y=-3(x+4)] 3=[y=—x"—-8x-11] .5:[y:—2x2+28x—96]}
2=[y=(x-1)*=3] 4=[y=2x"+6] 6=[y=—(x-7)"-5]

\ o 7 / /

/

f

/

N01=|:

poa ®

No2=(f(x)=—x"+14x-49), ,No3=(f(x)=—x"+2x+38)
Nod=(f(x)==x>=6x+7), ,No5=(f(x)=x"+12x+35)
No6=(p=500-0.5x)

No7 : N = 100 ’
: P1 = 3000 , P2 = 3500 , P3 = 4000 ,
: B = 500 , M = 1092000
No8 : P =5 , L =13 , A =49 , D =25
1
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Function03 for No.11785
I=[y=x"-6x+9]

No]z{ 5
2=[y==(x+4)"+3]

i

3=[y=-3x"-42x-141]
A=ly=—~(x-2)-7]

S=[y=2x"-12x+22]
6=[y=3(x+6)+2]

|

No2=(f(x)==x"+2x+63),

Nod=(f(x)=x>+4x-21), ,No5=(f(x)=-x"—14x—148)

\

A
\

,No3=(f(x)=x"—8x+16)

No6 =(p=600-0.6x)

No7 : N 130 ’
: P1 6000 , P2 = 6300 , P3 =
: B 300 , M = 1132800

No8 : P 11 , L =18 , A =

X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXKKXXXXKKKXXXXKXKXXXKKKXKXKXKK

6600 ,

64 , D =110

10
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXMS/2-6300402-00016XX
Function03 for No.11787

NOI_[.]:[y:—x2+l4x—48] 3=[y=-3(x+3)+2] S5=[y=3x"+30x+80]
2=[y=-2x+4x+1]  4=[y=(x=5)] 6=[y==x"-6]

\ ,
151 \\ /

10

/ R
| - \
No2=(f(x)=—x"-10x-25), ,No3=(f(x)=—x"+4x-3)

Nod =(f(x)=—=x>-10x-24), ,No5=(f(x)=x"+6x—16)
No6=(p=200-0.7x)

No7 : N = 90 ’
: P1 = 3000 , P2 = 3300 , P3 = 3600 ,
: B = 300 , M = 577200
No8 : P = 3 , L =4 , A =16 , D =15
1
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):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMS/2-6300402-00017XX
Function03 for No.11852

[.]z[yzZ(x+3)2+6] 3=[y=x"+2x+5] .5:[y:—3(x—5)2—6]}
Nol = ) 2 2
2=[y=3x"-6x+3] 4=[y=(x-7)"+2] O=[y==x"-1]
B 30~ /i
1\ — /
\ — /

\ \\\ \\ /1

10~ /’
/
15 / \\

20- \
// \
25- / \

e ! \
No2=(f(x)=x"+2x), ,No3=(f(x)=-x"+2x+48)
Nod = (f(x)=-x"+10x-21), ,No5=(f(x)=—x"+2x-1)
No6=(p=100-0.1x)

No7 : N = 110 p
: P1 = 6000 , P2 = 6600 , P3 = 7200 ,
: B = 600 , M = 1425000
No8 : P = 2 , L =5 , A = 144 , D =14
I 1D:9:9.:9.:9.0.0.0.0.0.0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:¢
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKKXXKXKXME5/2-6300402-00018XX

Function03 for No.11898

N01=|:

d=[y=x"+6x+9]
2=[y=—(x-2)"-5]

3=[y=3(x+1)-2]
4=[y=-3x"+42x-143]

\ 30

\
?5_

\

A

15

10

S=[y=x"—10x+ 18]}
6=[y=-2x"-6]

-10 -8
No7 N =
: Pl =
: B =
No8 : P =
X [Page = 001

I/
/
f

/

[/

[/

/

=15+
=20+

=257

/
N
e

10

\ \ \

\

N02=(f(x)=—x2—2x+35), ,N03:(f(x):_x2+6x)

Nod=(f(x)=—x"—4x—-4),

120
4000
400
11
8]

4

4

4

4

P2
M
L

, No3 = (f(x)=x"-25)

No6=(p=700-0.2x)

4400 ,
1112400
16 ,

P3

A =

4800 ,

64 , D =55

),0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9.:9.0:9:9.0:9:9.0:9:9,0:9:9.0,9:9.0:9:9.0,0:9.0,9:9.0,9:9.0:9:9.0,9:0.0:¢



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXKXKXKXKXME5/2-6300402-00019XX

Function03 for No.11909

{I:[y:—x2+2x—8] 3=[y=(x+7P+1] S=[y=-2x-7] }
Nol = ) 2 2
2=[y==x"—-4x-1] 4=[y=3(x-7)] .6=[y=-3(x+5)+5]
30- \ l
/ \. |
[ > \ /
/ \\ /
20-
// \ /
/ 157 \ {
\ / /
\ / \ |
\ /o L
\ / \ /
5- /
\\\\_ﬂ%\ \ //
| 7 N . \ N .
10 8 /’5 4\ 2 0 2 4 6 8 10
/
/ \ 5-
, \ i
/ \ /TN
/ /404N
/ \
/ / \
/ -157 \
/ Y \
| /\ _20- \
f /\
| /
’ \
/ / \
25 ‘
| = \
| [\ ] \
No2=(f(x)==x"+4x-4), ,No3=(f(x)=—x"—4x)
Nod4=(f(x)=x>+2x-35), ,No5=(f(x)=-x"—8x-15)
No6=(p=300-0.6x)
No7 : N = 120 ,
: Pl = 4000 , P2 = 4200 , P3 = 4400 ,
: B = 200 , M = 800000
No8 : P =11 , L =18 , A = 100 , D = 88
[Page = 0019] XXXXXXXXXXXKXKXXXXXXXXXXXKXXKXKXKXXKXXXKXKKLXKXXKXKKXKXKXXXKKKXKXKKKXKKXKXKXKKK
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):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXXXMS/2-6300402-00020XX
Function03 for No.11944

I=[y=x"-2]  3=[y=3(x-4)"-3] .5=[y:—2x2—12x—16]}
2=[y=(x=5)7+4] 4=[y=-3x"—-6x+1] .6=[y=—x"+14x-52]
\ 30‘ \ / l

\ A\
\ 201 \\

Nolz[

—
—
T
—
—
~—
—

--...__-..=-..._________

\ / .
\ l //
_ I
o N/ |/
N/ |/
\ oA\ < [
\\ y I//
\ / \\ //
Wk 6 a4 a~NI 7% N4/ & @
/TN
/ \
I/
-20- /,
/

No2=(f(x)=—=x"+8x—-15), ,No3=(f(x)=x"—4x-21)
Nod4 =(f(x)=x"—14x+49), ,No5=(f(x)=x"—-2x—-63)
No6=(p=100-0.6x)

No7 N = 80 p
pl1 = 7000 , P2 = 7500 , P3 = 8000 ,
B = 500 , M = 884000
No8 P =7 , L =14 , A = 36 , D = 84
X [Page = 0020] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXKKKXKXXXKKKXXXXKXKXXXKKKKXXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXME/2-6300402-00021XX

Function03 for No.11961

4

{Iz[y:—x2+4x+3] 3=[y=-3x-6x+4] .5:[y:x2+5]}
Nol = 2 2 2
2=[y=(x-7P%=7] 4=[y=-2(x-1)*+6] .6=[y=3(x—-6)]
30- /
\ \ ,
A \
\ 254\ /
\ \
/
\ 20- \ /
\ /
\ \
\\ 15+ /
\ 10- /A
N o\
~ TN
\5-/ N \\
/ \ /
/0 \\\\\/
-10 8 ¥y -4 2 2 4 6 8 10
/ \\\ \\ //
feEn -
,//I \
/| o \
/f —
=15+
/| \
/1 \
I -20- \ \
/// \\
o= S
S T
No2=(f(x)=—x"-6x—-5), ,No3=(f(x)=x"+2x—48)
Nod=(f(x)=x"-10x+9), ,No5=(f(x)=—x>—4x-4)
No6=(p=500-0.2x)
No7 N = 70 ,
P1 = 6000 , P2 = 6300 , P3 = 6600 ,
B = 300 , M = 577500
No8 P =5 , L =6 A =16 , D = 35
2

),0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9.:9.0:9:9.0:9:9.0:9:9,0:9:9.0,9:9.0:9:9.0,0:9.0,9:9.0,9:9.0:9:9.0,9:0.0:¢



):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXMS/2-6300402-00022XX
Function03 for No.11966

d=[y=—(x—4)Y+4] 3=[y=—(x+7)—-1] .5:[y:—2x2—12x—18]}

2=[y=-3x"+18x-32] .4=[y=(x—1)+2] 6=[y=2x"~7]
30

N01=|:

25+
20
15

10

—r—
\\
-
o —
B N
e ‘
_—
e 7
//
///,

{
/
{
\ \
] Vo | \
No2=(f(x)=x"-6x+5), ,No3=(f{x)=-x"+8x—16)

Nod =(f(x)=—x>=8x), ,No5=(f(x)=x"—10x+ 16)
No6 =(p=600-0.6x)

No7 N = 90 p
Pl = 6000 , P2 = 6200 , P3 = 6400 ,
B = 200 , M = 680800
No8 P =9 , L =19 , A = 144 , D = 54
X [Page = 0022] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKKKXKXXXKKKXXXXKXKXXXKKKKXXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXMS5/2-6300402-00023XX
Function03 for No.12024

Nol =
[.]z[y=—2x2—16x—33] 3=[y=—"-3] .5=[y:2x2—12x+17]}
2=[y=(x-6)] 4=[y=-3x"-30x-74] 6=[y=(x—2)"+2]
| 307 /
\ /
/I
/
/
/
/
15
\ /
\ /
10+
5_

\
. D
-10 -8 -2 2 4 6 8

/// ///ﬁ-\'\ //"“““\
[/ \/ 51
/ // \ \\
// \ /(\ 104 \
‘. Y
/ A
/ /\ \ \
/ \ \ 197 \
// \ \\ \
// \ \_20 \
\ \

[ fsy

e \

f LAY

/R . \

11 II \\ - \
No2=(f(x)=—=x>-10x-16), ,No3=(f(x)=x"—4x+3)
Nod=(f(x)=—x>—18x-81), ,No35=(f(x)=—x"+4x+45)

Nob6 =(p=600-0.5x)
No7 : N = 100 ,
Pl = 3000 , P2 = 3500 , P3 = 4000 ,
: B = 500 , M = 792000
No8 : P =7 , L =12 , A = 100 , D = 49
2
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):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.:9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMS/2-6300402-00024XX
Function03 for No.12045

I=[y=3x"+30x+70] 3=[y=-2(x+5)] .5=[y:—(x—3)2—5]}
2=[y=(x=2y+5] 4=[y=x"-2x-2] 6=[y=2x"-3]

Wy I
\\ el

No]:{

N 5
\ /
| N\ / | /

/ \\

/ \\ 15

/ \ /20
/ \
|

=25

/ Vo
No2=(f(x)=x"+8x+16), ,No3=(f(x)=x’+4x-12)
Nod=(f(x)=—x"-10x—-21), ,No5=(f(x)=—x"+8x—15)

No6=(p=700-0.2x)

No7 N = 100 ,
Pl = 4000 , P2 = 4500 , P3 = 5000 ,
B = 500 , M = 845500
No8 P =3 , L =12 , A = 64 , D =18
X [Page = 0024] XXXXXXXXXXKXXXXXXXXXXXXKXXXKXXXKXKXKXKXKXKKKKKXKXKXKK KX KXKXKKXKKXKXKXKKKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKXKXME5/2-6300402-00025XX

Function03 for No.12623
d=[y=2x"+24x+75]

No]:{ )
2=[y=—(x-5)"+6]

3=[y=3x"+42x+ 147]
d=[y=—(x-1)+6]

S=[y=x"+2x-6]
6=[y=-3(x-2)-2]

|

30
W o /
1 . /
\\ \ / / 257 /
RN |
NV . /
O\ \ | |
\ /] 15 /
\ /
Wy ,
\ \/ / ll
e /
\ f / /l
o\ /)‘\ - /
\\ \}L/-/ \ /
\ \ /
‘ NS —— / ‘ , ‘ ,
10 8 6 4\ 2 0 /2 4 6 8 10
e
\ SN
‘ _5—
S SN
\
-10/ \
\
\
-15/ \
/ \
z 5 \
/ \\
’25,
[ \\
i \
No2=(f(x)=x"-8x+15), ,No3=(f(x)=—x"—10x-21)
No4 =(f(x)=x>—16), ,No5=(f(x)=x"+ 14x+49)
No6 =(p=200-0.6x)
No7 N = 70 ,
Pl = 4000 , P2 = 4500 , P3 = 5000 ,
B = 500 , M = 700000
No8 P =2 , L =11 , A = 169 , D = 26
LISHIED:9.9:0.9:0.9:0.0:0.0:0.0:0.0.0.0.0:0.0:0.0:0.0:9.0:0.0:0.0.0.0:0.0:0.0:0.0:0.0:0.0.0.0.0:0.0:0.0.0.0.0.0.0.0.0.0:0.0:¢



):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.:9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMS/2-6300402-00026XX
Function03 for No0.12915

I=[y==x"—14x-51] 3=[y=—-2x"+4] .5=[y:—x2+6x—12]}
2=[y=2(x+2)Y-2] 4=[y=-3(x+5V-1] .6=[y=(x+7) +7]

/ 301
/ 25-

/ 20,
X /
/ 15,

NS4

No]:{

[ . '\ \
No2=(f(x)=x"=25), ,No3=(f(x)=x"+16x+64)
Nod =(f(x)=—x"+2x+24), ,No5=(f(x)=x"+6x—16)
No6=(p=300-0.1x)

No7 N = 100 ,
Pl = 4000 , P2 = 4500 , P3 = 5000 ,
B = 500 , M = 1008000
No8 P =2 , L =4 , A = 144 , D =38
X [Page = 0026] XXXXXXXXXXXXXXXXXKXXXXXKXXXKXXXKXKXXKXKXKXKKKKKXKXKXKKKKXKXKXKKXKKXKXKXKKKKX
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKXKXME5/2-6300402-00027XX

Function03 for No.13089

NOIZ{I—[y—2x l6x+33] 3=[y=—x 12x2 40]
A=[y=—(x-77-5]

2=[y=x"+5]

\ 301

\ 20-
\ 15

\
N \\/ /
SHEAN /
NS

/

S=[y=-2(x+2)"]
6=[y=-3x"+6x-10]

|

No2 = (f(x)=—x"—8x—16),

2 4 6

N
\
\
\
\
\
\
\
\

, No3 = (f(x)=—x"—2x +35)

No4=(f(x)=x>—-16), ,No5=(f(x)=—x"+10x-9)
No6 = (p=200-0.6 x)

No7 : N 110
Pl 4000 , P2 = 4500 , P3 =
B 500 , M = 1128000

No8 : P 5 , L =12 , A =

5000 ,

9 , D =50

X [Page = 0027] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKKXXKKKKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXKXXKXKXME5/2-6300402-00028XX

Function03 for No.13101

NOI_[.]z[y:—x2—8x—ll] 3=[y=—(x-3)] S=[y=2x"+4] }
2=[y==2(x=7)+3] 4=[y=x"—6x+10] .6=[y=3x"—42x+ 144]
. 30- /n / /
\ o\ 25 \ / ]
=X EEmmraE

20 / /
ey \ ==

\ o\ \ / /

\ \I5- / \ / /

\ / \ /

\ / / /

// \ /
\ 10 / \ / /
\ \// )/ /
: \
N&1 /
N // //
N~ /
1 '
10 8 6 4 2 0 2 A 6\\/8 10
-57 / \
/ N\
\
_7 \
\
/ \
/151 \
/ \
/ \
\\

/—20 \

I \

/ -25- \

/ \

) — Y
No2=(f(x)=x"-14x+48), ,No3=(f(x)=—x"—6x+27)
Nod=(f(x)=—x"-6x-5), ,No5=(f(x)=—x"—12x-36)

No6 = (p=400-0.7x)

No7 N = 90 ,
Pl = 4000 , P2 = 4200 , P3 = 4400 ,
B = 200 , M = 571200
No8 p =7 , L =17 , A = 81 , D = 84
LEH D 9.9:0.9:0.9:0.0:0.0:0.0:0.0.0.0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0:0.0:¢
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Function03 for No.13155

I 2
No]:[ d=ly= (2x+5) 3] :
2=[y=-2x"+28x-105] . 4=[y=3(x+1) +3]
\ 304
\
\\ 25+
\

\l .
| .

=[y=-3x"-12x-18]

=[y=x"+3]
:[yzﬁf—4x+2]

|

\
\\ 10 /
N /
el /A
SN
/
10 8 6 /4 2 0L N 2 4 6 10
/
s \
//7 \ 97 \
i \V/--\ \
/o N
/ 10, \
/] e
/ / \
/ \"*\ \

[ /’ ‘z\ \

l/ I/I / .

No2=(f(x)=—x"+6x-28),

,No3 =(f(x)=—x"+18x—81)
No4 = (f(x)=—x>—6x+27),

, No5 = (f(x)=x"—64)

No6 =(p=500-0.6x)

No7 N 100 ,
Pl 5000 , P2 = 5500 , P3 =
B 500 , M = 1092000

No8 P 5 , L =15 , A =

X [Page = 0029] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXXKKKKKK

6000 ,

36 , D =25
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Function03 for No.13156
d=[y=—(x+5)+5]

N0]=|: )
2=[y=-2x"-28x-96]

4=[y=3x"+3]

3=[y=—(x-1)+6]

S=[y=-3(x+5)-5]

6=[y=x"+10x+25]

|

| \ i
\\ \ 257 /
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\\ // / L/ \\\
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10 8 6 4 -2// 0 2 \\ 6 8 10
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/r / \\ \\
/ / \\ 207 \
/ / \ \
[ \
-25-
/ / \\ \\
/ / - \
No2=(f(x)=x>-25), ,No3=(f(x)=x"+2x-3)
Nod=(f(x)==x"+2x), ,Nos=(f(x)=—x"-2x-1)
No6=(p=700-0.4x)
No7 N = 90 ,
Pl = 3000 , P2 = 3300 , P3 = 3600 ,
B = 300 , M = 617700
No8 P =2 , L =3 , A = 36 , D =6
SIS 0:0:0:0:0.0.9.0.0.0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0.0.0.0:0.0.0.0.0.0.9.0:0.0:0.0:0.0:0.0:0.0:0.0:0:¢
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Function03 for No.13158

1=[y=3(x+5)-3] 3=[y=—(x+5)"-6] .5=[y=—x2+6x—14]}
2=[y=-3x"-18x-26] . A4=[y=2x"+5] 6=[y=(x-5)]

\ 301 /

\ /

\\ 20- /

\ 15 /
/

\ 101 //

No]:{

T T T T -\ T T T T T
10 8 6 [ N2 0 2 4 6 8

/ / A \ \
| ¥ \
/ / /// ‘\

RN | v
No2=(f(x)=—=x"—10x—-21), ,No3=(f(x)=—x"—16x—64)
Nod =(f(x)=—x"—10x-24), ,No5=(f(x)=x"+2x-15)
No6=(p=500-0.2x)

No7 N = 100 ,
Pl = 4000 , P2 = 4500 , P3 = 5000 ,
B = 500 , M = 1008000
No8 P =3 , L =5 , A = 49 , D =12
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Function03 for No.13203
I=[y=(x+1)-6]

No]:{ )
2=[y==x"+3]

BRI

3=[y==2(x+7)]
.4:[y:2x2+8x+13]
30- /

S=[y=x"—4x+10]

6=[y=3x"+36x+109]

|

\\‘ \ \\ = //
R S e Py /
Lo , ,

VAN e

\ \

\\ \\\/ \ /74 //

\\\ /X\ \_/ - / :
N\ )
10 0L /2 4 6 8 10

i

=10+

-15-

=20

=25

No2=(f(x)=—x*-2x+63), ,No3=(f(x)=x"—4x-232)

No4 = (f(x) =—x"+ 16 x — 64),

No6 =(p=600-0.4x)

No7 N = 100 ,
Pl = 6000 , P2 = 6500 , P3 = 7000 ,
B = 500 , M = 1230000
No8 P =9 , L =19 , A = 36 , D
X [Page = 0032]

,No5=(f(x)=—x"-2x+3)

117
):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:¢



):9:0:9.0:0:9.0.0:9.0:0:9:9.0:9.9.0:9.0.0:9:0.0:9.:0.0:9.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXXKXXKXKXME5/2-6300402-00033XX

Function03 for No.13469

Noz{ d=[y=x"-2x+5] 3=[y=—x"—10x-23] .5:[y:2(x—6)2—6]}
2=[y=-3(x-6)-3] A=[y==x"-7] 6=[y=3(x+5)-6]
\ A / /’
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\ /
T T T T T T \\ T /\ T
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=20
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No2=(f(x)==x>—4x+5), ,No3=(f(x)=x"+14x+49)
Nod=(f(x)=—x>—4x+32), ,No5=(f(x)=x"—10x+21)

No6=(p=500-0.3x)
No7 N = 90 ,
P1 = 6000 , P2 = 6200 , P3 = 6400 ,
B = 200 , M = 655200
No8 P =4 , L = 14 , A = 64 , D = 36
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